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Question No. 1

�कसी �नि�चत कोड म� 'GUEST' को 53@&2 और 'MEAN' को 6@4# के �प म� �लखा जाता ह।ै इसी कोड म� 'SAME' को
कैस े�लखा जाएगा?
A)4&6@ B)&46@
C)&36@ D)5&6@

In a certain code 'GUEST' is written as 53@&2 and 'MEAN' is written as 6@4#. How is 'SAME' written in that
code?
A)4&6@ B)&46@
C)&36@ D)5&6@
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 1) (objection.aspx?qwr=3210017853&qwer=1)

Question No. 2

भारतीय स�ंवधान के �नमा�ता �कस ेमाना जाता ह?ै
A)B.R. अ�बड़ेकर B)जवाहरलाल नहे�
C)महा�मा गाधँी D)B.N. राव

Who is considered as the architect of the Indian Constitution?
A)B.R. Ambedkar B)Jawaharlal Nehru
C)Mahatma Gandhi D)B.N. Rao
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 2) (objection.aspx?qwr=3210017853&qwer=2)

Question No. 3

पा�क�तान के वत�मान रा��प�त कौन ह�?
A)इनम� स ेकोई �वक�प नह�ं B)आ�रफ़ अ�वी
C)परवज़े मशुरफ़� D)सयद यसूफ़ रज़ा िजलानी

Who is the present President of Pakistan?
A)None of the options B)Arif Alvi
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C)Pervez Musharraf D)Syed Youssuf Raza Gillani
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 3) (objection.aspx?qwr=3210017853&qwer=3)

Question No. 4

लोकसभा के �लए चनुाव हर ________ वष� म� आयोिजत �कए जात ेह�।
A)पाचँ B)छह
C)चार D)तीन

The elections for Lok Sabha are held every ___________ years.
A)Five B)Six
C)Four D)Three
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 4) (objection.aspx?qwr=3210017853&qwer=4)

Question No. 5

�कसी क�ा के छा�� क� औसत उ� 15 वष� ह।ै जब 12 वष� 6 मह�न ेक� औसत उ� के 5 नए छा� दा�खल होत ेह�, तो क�ा
क� औसत उ� 6 मह�न ेकम हो गई। क�ा म� �कतन ेछा� ह�?
A)18 B)24
C)22 D)20

The average age of the students in a class was 15 years. When 5 new students, whose average age was 12
years 6 months were admitted,  the average age of  the class got reduced by 6 months. Find the number of
students in the class originally.
A)18 B)24
C)22 D)20
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3210017853&qwer=5)

Question No. 6

य�द दो स�ंयाओ ंका योग और अतंर �मशः 20 और 8 ह,ै तो उनके वग� का अतंर �ात क�िजए।
A)160 B)28
C)12 D)180

If  the  sum  and  the  difference  of  two  numbers  are  20  and  8  respectively,  then  find  the  difference  of  their
squares.
A)160 B)28
C)12 D)180
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 6) (objection.aspx?qwr=3210017853&qwer=6)

Question No. 7

�न�न�ल�खत जानकार� को सावधानीपवू�क पढ़� और नीच े�दए गए ��न का उ�तर द�। एक �कूल म�, पाचँ �श�क ह�। अ�ण और
बाला इ�तहास और अ�ंज़ेी पढ़ात ेह�, वी� और बाला अ�ंज़ेी और भ�ूव�ान पढ़ात ेह�। �वनय और अ�ण ग�णत और इ�तहास

ww
w.
ex
am
mi
x.c
om

Visit -  www.exammix.com & Download : All Exam Previous Question Papers (Hindi & English)

Downloaded from  -  www.exammix.com



पढ़ात ेह�। म�ण और बाला भौ�तक� और रसायन शा�� पढ़ात ेह�। �श�क� क� �न�न�ल�खत म� स ेकौनसी जोड़ी भ�ूव�ान और
इ�तहास दोन� पढ़ाती ह?ै
A)इनम� स ेकोई �वक�प नह�ं B)अ�ण और वी�
C)�वनय और वी� D)�वनय और अ�ण

Read  the  following  information  carefully  and  answer  the  question  given  below.  In  a  school,  there  are  five
teachers. Arun and Bala are teaching History and English, Viru and Bala are teaching English and Geology.
Vinay and Arun are teaching Maths and History. Mani and Bala are teaching Physics and Chemistry. Which of
the following teachers is teaching both Geology and History?
A)None of the options B)Arun and Viru
C)Vinay and Viru D)Vinay and Arun
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 7) (objection.aspx?qwr=3210017853&qwer=7)

Question No. 8

एक आयत का ��ेफल 460 मी² ह।ै य�द लबंाई, चौड़ाई स े15% अ�धक ह,ै आयताकार मदैान क� चौड़ाई �कतनी ह?ै
A)34.5 मी B)20 मी
C)15 मी D)26 मी

The area of a rectangular field is 460 m². If the length is 15% more than the breadth, what is the breadth of a
rectangular field?
A)34.5 m B)20 m
C)15 m D)26 m
Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 8) (objection.aspx?qwr=3210017853&qwer=8)

Question No. 9

�ृंखला म� गलत स�ंया का पता लगाए।ं 0, 1, 3, 6, 10, 15, 21, 28, 37, 45
A)37 B)10
C)45 D)0

Find the wrong number in the given series. 0, 1, 3, 6, 10, 15, 21, 28, 37, 45
A)37 B)10
C)45 D)0
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 9) (objection.aspx?qwr=3210017853&qwer=9)

Question No. 10

GDP का �व�तार �या ह?ै
A)�लोबल डोमिे�टक �ोड�ट B)�ॉस डोमिे�टक �ोड�ट
C)�लोबल डवेलपम�ट �ोज�ेट D)�ॉस �डपािज़टर� �ोड�ट
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What is the full form of GDP?
A)Global Domestic Product B)Gross Domestic Product
C)Global Development Project D)Gross Depository Product
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 10) (objection.aspx?qwr=3210017853&qwer=10)

Question No. 11

दादा साहब फ़ा�के परु�कार �कसस ेसबं�ंधत ह?ै
A)सगंीत B)शाि�त
C)�सनमेा D)सा�ह�य

Dada Saheb Phalke Award is associated with­
A)Music B)Peace
C)Films D)Literature
Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 11) (objection.aspx?qwr=3210017853&qwer=11)

Question No. 12

____________ को ि�वक �स�वर भी कहा जाता ह।ै
A)ताबंा B)पारा
C)िज़कं D)ए�य�ूम�नयम

____________ is also called as quick silver.
A)Copper B)Mercury
C)Zinc D)Aluminium
Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 12) (objection.aspx?qwr=3210017853&qwer=12)

Question No. 13

बौ� धम� के स�ंथापक कौन थ?े
A)��मा B)महावीर
C)गौतम ब�ुा D)दलाई लामा

Who was the founder of Buddhism?
A)Bramha B)Mahavira
C)Gautama Buddha D)Dalai Lama
Answer Key : C Your Response : D (Wrong) Raise Objection(Question No. 13) (objection.aspx?qwr=3210017853&qwer=13)

Question No. 14

�कस रा�य म� ए�शया का सबस ेबड़ा तलु�प उ�यान ि�थत ह?ै
A)उ�तराखडं B)असम
C)ज�म ूएव ंक�मीर D)�सि�कम
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In which state is Asia’s largest tulip garden located?
A)Uttarakhand B)Assam
C)Jammu and Kashmir D)Sikkim
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 14) (objection.aspx?qwr=3210017853&qwer=14)

Question No. 15

इस ��न म�, एक कथन के बाद दो �न�कष� �दए गए ह�। ता�क�क �प स ेसबस ेउ�चत �न�कष� च�ुनए। कथन: �कूल 6 वष� और
उसस ेअ�धक उ� के ब�च ेको दा�खला दते ेह�। �न�कष�: I. �कूल म� सात वष� स ेअ�धक आय ुके ब�च� को दा�खला नह� ं�दया
जाता। II. इस आय ुम� ब�च े�वकास के उ�चत �तर पर होत ेह� और सीखन ेके �लए तयैार होत ेह�।
A)�न�कष� I और II दोन� पालन करत ेह�। B)केवल �न�कष� I पालन करता ह।ै
C)केवल �न�कष� II पालन करता ह।ै D)न तो �न�कष� I और न ह� II पालन करता ह।ै

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically. Statement: The schools admit the child at the age of 6 and above. Conclusions: I. The schools do
not admit children after seven years of age. II. At that age, the child reaches appropriate level of development
and is ready to learn.
A)Both conclusions I and II follow B)Only conclusion I follows
C)Only conclusion II follows D)Neither conclusion I nor II follows
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 15) (objection.aspx?qwr=3210017853&qwer=15)

Question No. 16

य�द �कसी स�ंया और उसके वग� का योग 182 ह,ै तो स�ंया का सकारा�मक मान �ात क�िजए।
A)28 B)15
C)13 D)26

If the sum of a number and its square is 182, find the positive value of the number.
A)28 B)15
C)13 D)26
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 16) (objection.aspx?qwr=3210017853&qwer=16)

Question No. 17

महा�मा गाधंी �वारा 'भारत छोड़ो आदंोलन' कब श�ु �कया गया था?
A)1942 B)1945
C)1943 D)1944

When was the 'Quit India Movement' started by Gandhi?
A)1942 B)1945
C)1943 D)1944
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 17) (objection.aspx?qwr=3210017853&qwer=17)
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Question No. 18

असगंत को चनु�।
A)QSW B)PRU
C)JLP D)HJN

Find the ODD one out.
A)QSW B)PRU
C)JLP D)HJN
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 18) (objection.aspx?qwr=3210017853&qwer=18)

Question No. 19

एक �यापार� अपन ेसामान को लागत म�ूय स े30% अ�धक पर अ�ंकत करता ह ैऔर उन पर 20% क� छूट दतेा ह।ै उसका
लाभ ��तशत �ात क�िजए।
A)2% B)5%
C)4% D)6%

A trader marks his goods at 30% above  the cost price and allows a discount of 20%. What  is his gain per
cent?
A)2% B)5%
C)4% D)6%
Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 19) (objection.aspx?qwr=3210017853&qwer=19)

Question No. 20

भारतीय �रज़व� ब�क (RBI) के वा�ष�क आकंड़� के अनसुार, �न�न�ल�खत दशे� म� स ेकौनसा दशे FY18 म� भारत म� �वदशेी
��य� �नवशे (FDI) का सबस ेबड़ा �ोत ह?ै
A)मॉ�रशस B)�सगंापरु
C)नदेरल�ड D)�ासं

According  to Reserve Bank  of  India  (RBI)  annual  data, which  of  the  following  countries  accounted  for  the
largest source of Foreign Direct Investment (FDI) into India in FY18?
A)Mauritius B)Singapore
C)Netherland D)France
Answer Key : A Your Response : D (Wrong) Raise Objection(Question No. 20) (objection.aspx?qwr=3210017853&qwer=20)

Question No. 21

भारत एक स�ंभ ुलोकता�ं�क गणरा�य कब बना?
A)26 जनवर� 1950 B)15 अग�त 1947
C)30 जनवर� 1948 D)26 नवबंर 1929
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India became a Sovereign Democratic Republic on­
A)26 January 1950 B)15 August 1947
C)30 January 1948 D)26 November 1929
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 21) (objection.aspx?qwr=3210017853&qwer=21)

Question No. 22

य�द (4 × 4)  ÷ (512 ÷ 8)  × (32 × 8)  = (4)  ह,ै तो 'a' का मान �ात कर�।
A)10 B)4
C)6 D)3

If (4 × 4)  ÷ (512 ÷ 8)  × (32 × 8)  = (4) , find the value of 'a'.
A)10 B)4
C)6 D)3
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 22) (objection.aspx?qwr=3210017853&qwer=22)

Question No. 23

एक मोबाइल फ़ोन का अ�ंकत म�ूय �.12400 ह ैऔर दकुानदार उस पर 30% क� छूट दतेा ह।ै मोबाइल फ़ोन का �व�य म�ूय
�ात क�िजए।
A)�.8680 B)�.8860
C)�.10400 D)�.9020

The marked price of a mobile phone is Rs.12400, and the shopkeeper allows a discount of 30% on it. Find the
selling price of the mobile phone.
A)Rs.8680 B)Rs.8860
C)Rs.10400 D)Rs.9020
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 23) (objection.aspx?qwr=3210017853&qwer=23)

Question No. 24

य�द A : B = 4 : 5 और B : C = 3 : 8 ह,ै तो A : C �ात कर�।
A)8 : 5 B)5 : 8
C)3 : 10 D)4 : 5

If A : B = 4 : 5 and B : C = 3 : 8, find A : C.
A)8 : 5 B)5 : 8
C)3 : 10 D)4 : 5
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 24) (objection.aspx?qwr=3210017853&qwer=24)

Question No. 25

3 4 4 a

3 4 4 a
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Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 25) (objection.aspx?qwr=3210017853&qwer=25)

Question No. 26

�न�न म� स े�या 14 मी/सकेंड के समान ह?ै
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A)
46.6 �कमी/घटंा

B)
50.4 �कमी/घटंा

C)70 �कमी/घटंा D)28 �कमी/घटंा

Which of the following is the same as 14 m/s?
A)46.6 km/hr B)50.4 km/hr
C)70 km/hr D)28 km/hr
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 26) (objection.aspx?qwr=3210017853&qwer=26)

Question No. 27

�न�न ��न म�, �द�त �वक�प� म� स ेसबं�ंधत स�ंया च�ुनए। 8 : 24 :: ? : 32
A)5 B)1
C)10 D)6

Which of the following number will best complete the relationship given below? 8 : 24 :: ? : 32
A)5 B)1
C)10 D)6
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 27) (objection.aspx?qwr=3210017853&qwer=27)

Question No. 28

भारतीय स�ंवधान सभा क� पहल� बठैक क� अ�य�ता _____ न ेक� थी।
A)जवाहरलाल नहे� B)सि�चदानदं �स�हा
C)राज�� �साद D)B.R. अ�बडेकर

_____ presided over the first meeting of the Indian Constituent Assembly.
A)Jawaharlal Nehru B)Sachchidananda Sinha
C)Rajendra Prasad D)B.R. Ambedkar
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 28) (objection.aspx?qwr=3210017853&qwer=28)

Question No. 29

ए�शयाई खले� म� �वण� पदक जीतन ेवाल� पहल� भारतीय म�हला कौन थी?
A)शाइनी अ�ाहम B)सनुीता रानी
C)P.T. उषा D)कमलजीत सधंू

Who was the first Indian woman to win a gold medal in Asian Games?
A)Shiny Abraham B)Sunita Rani
C)P.T. Usha D)Kamaljeet Sandhu
Answer Key : D Your Response : A (Wrong) Raise Objection(Question No. 29) (objection.aspx?qwr=3210017853&qwer=29)

Question No. 30
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48 �कमी / घटंा क� अपनी सामा�य ग�त स,े एक आदमी समय पर अपन ेकाया�लय पहुंचता ह।ै अगर वह अपनी सामा�य ग�त
स े5/6 हो जाता ह,ै तो वह अपन ेकाया�लय 8 �मनट दरे� स ेपहुंचगेा। घर स ेउसके काया�लय क� दरू� �या ह?ै
A)32 �कमी B)56 �कमी
C)16 �कमी D)40 �कमी

At his usual speed of 48 km/hr, a man reaches his office in time. If he goes by 5/6 of his usual speed, he will
reach his office 8 minutes late. What is the distance to his office from home?
A)32 km B)56 km
C)16 km D)40 km
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 30) (objection.aspx?qwr=3210017853&qwer=30)

Question No. 31
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Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 31) (objection.aspx?qwr=3210017853&qwer=31)

Question No. 32

एक क�ा म� लड़क� क� औसत आय ु16 वष� ह ैऔर लड़�कय� क� 15 वष� ह।ै परू� क�ा क� औसत आय ु�ात कर�।
A)डटेा अपया��त B)16 वष�
C)15 वष� D)15.5 वष�

The average age of boys in a class is 16 years and that of girls is 15 years. Find the average age of the whole
class.
A)Data inadequate B)16 years
C)15 years D)15.5 years
Answer Key : A Your Response : D (Wrong) Raise Objection(Question No. 32) (objection.aspx?qwr=3210017853&qwer=32)

Question No. 33

तीन स�ंयाओ ंका अनपुात 3 : 4 : 5 ह� और उनके वग� का योग 1250 ह।ै तीन स�ंयाओ ंका योग �ात कर�।
A)50 B)60
C)30 D)90

The  ratio  of  three  numbers  is  3  :  4  :  5  and  the  sum  of  their  squares  is  1250.  Find  the  sum  of  the  three
numbers.
A)50 B)60
C)30 D)90
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Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 33) (objection.aspx?qwr=3210017853&qwer=33)

Question No. 34

Answer Key : A Your Response : Not Answered Raise Objection(Question No. 34) (objection.aspx?qwr=3210017853&qwer=34)
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Question No. 35

एक रा�श को दो वष� के �लए 5% च�व�ृ� �याज पर �नवशे क� गई थी; और अव�ध के अतं म�, कुल रा�श �.1323 थी।
�नवशे क� गई रा�श �कतनी थी?
A)�.1150 B)�.1125
C)�.1980 D)�.1200

A sum was  invested at 5% Compound  Interest  for  two years; and at  the end of  the period,  it amounted  to
Rs.1323. What was the sum invested?
A)Rs.1150 B)Rs.1125
C)Rs.1980 D)Rs.1200
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 35) (objection.aspx?qwr=3210017853&qwer=35)

Question No. 36

य�द 832.58 - 242.31 = 779.84 - a ह,ै तो 'a' का मान �ात कर�।
A)199.57 B)189.57
C)295.05 D)179.57

If 832.58 ­ 242.31 = 779.84 ­ a, find the value of 'a'.
A)199.57 B)189.57
C)295.05 D)179.57
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 36) (objection.aspx?qwr=3210017853&qwer=36)

Question No. 37

�न�न म� स े�या नीच े�दए गए सबंधं को सबस ेबहेतर तर�के स ेपरूा करगेा? OQT : UWZ :: EGJ : ?
A)LNQ B)KMP
C)KPM D)KLN

Which of the following will best complete the relationship given below? OQT : UWZ :: EGJ : ?
A)LNQ B)KMP
C)KPM D)KLN
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 37) (objection.aspx?qwr=3210017853&qwer=37)

Question No. 38
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Answer Key : D Your Response : A (Wrong) Raise Objection(Question No. 38) (objection.aspx?qwr=3210017853&qwer=38)

Question No. 39
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Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 39) (objection.aspx?qwr=3210017853&qwer=39)

Question No. 40
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ओ�न त�ुलल ______ क� न�ृय शौल� ह।ै
A)केरल B)आ�ं �दशे

C)त�मलनाडु D)कना�टक

'Ottan Thullal' is a dance form of­
A)Kerala B)Andhra Pradesh
C)Tamil Nadu D)Karnataka
Answer Key : A Your Response : D (Wrong) Raise Objection(Question No. 40) (objection.aspx?qwr=3210017853&qwer=40)

Question No. 41

�न�न खले� म� स े�कसके साथ NEROCA �लब का सबंधं ह?ै
A)फुटबॉल B)हॉक�
C)��केट D)वाल�बॉल

With which of the following sports is NEROCA club associated?
A)Foot ball B)Hockey
C)Cricket D)Volleyball
Answer Key : A Your Response : D (Wrong) Raise Objection(Question No. 41) (objection.aspx?qwr=3210017853&qwer=41)

Question No. 42

P, Q का भाई ह।ै R, Q का �पता ह।ै S, R क� माता ह।ै T, S का �पता ह।ै Q, R क� प�ुी ह।ै P, S स ेकैस ेसबं�ंधत ह?ै 
A)प�ु B)परपोती
C)बटे� D)पोता

P is the brother of Q. R is the father of Q. S is the mother of R. T is the father of S. Q is the daughter of R.
How is P related to S ? 
A)Son B)Granddaughter
C)Daughter D)Grandson
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 42) (objection.aspx?qwr=3210017853&qwer=42)

Question No. 43

मगंल �ह म� ____ च�ंमा ह�।
A)72 B)2
C)54 D)3

Mars has ____ moons.
A)72 B)2
C)54 D)3
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Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 43) (objection.aspx?qwr=3210017853&qwer=43)

Question No. 44

असगंत को चनु�।
A)356 B)639
C)527 D)246

Find the odd one out.
A)356 B)639
C)527 D)246
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 44) (objection.aspx?qwr=3210017853&qwer=44)

Question No. 45

इस ��न म�, चार कथन के बाद चार �न�कष� �दए गए ह�। ता�क�क �प स ेसबस े उ�चत �न�कष� च�ुनए। कथन: 1) कुछ
जानवर, सबे ह�। 2) कोई भी सबे, बकर� नह� ंह।ै 3) सभी बक�रया,ं मधमुि�खया ँह�। 4) कुछ बत�न, जानवर ह�। �न�कष�: I.
कुछ जानवर, मधमुि�खया ँह�। II. कुछ मधमुि�खया,ँ बक�रया ंह�। III. कुछ मधमुि�खया,ँ बत�न, ह�। IV. कुछ सबे, जानवर ह�।
A)केवल �न�कष� II पालन करता ह।ै B)केवल �न�कष� I पालन करता ह।ै
C)केवल �न�कष� I और III पालन करत ेह�। D)केवल �न�कष� II और IV पालन करत ेह�।

In this question, four statements are given followed by four conclusions. Choose the conclusion(s) which best
fit(s) logically. Statements: 1) Some animals are apples. 2) No apple is goat. 3) All goats are bees. 4) Some
pots are animals. Conclusions: I. Some animals are bees. II. Some bees are goats. III. Some bees are pots.
IV. Some apples are animals.
A)Only conclusion II follows B)Only conclusion I follows
C)Only conclusions I and III follow D)Only conclusions II and IV follow
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 45) (objection.aspx?qwr=3210017853&qwer=45)

Question No. 46

�म�ृत�शं ______ क� ��त ह।ै
A)�धुा B)इनम� स ेकोई �वक�प नह�ं
C)याददा�त D)खनू

Amnesia is loss of­
A)Appetite B)None of the options
C)Memory D)Blood
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=3210017853&qwer=46)

Question No. 47

�न�न�ल�खत जानकार� को सावधानीपवू�क पढ़� और नीच े�दए गए ��न का उ�तर द�। पाचँ शहर- 'P', 'Q', 'R', 'S' और 'T'
अपन ेबगीच,े �च�कला, �श�ा, �म�ी के बरतन और इ� के �लए ��स� ह�, ल�ेकन ज�र� नह� ं�क व ेउसी �म म� ह�। (i) 'P'
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और 'R' �श�ा या बगीच� के �लए ��स� नह� ंह�। (ii) 'Q' और 'T' �च�कला या �म�ी के बत�न� के �लए ��स� नह� ंह�। (iii)
इ� और �च�कला का 'P' स ेकोई लनेा-दनेा नह� ंह।ै (iv) 'S' और 'T' बगीच ेऔर �च�कला के �लए ��स� नह� ंह�। (v) 'S'
�श�ा के �लए ��स� नह� ंह।ै �न�न�ल�खत म� स ेकौनसा शहर बगीच� के �लए ��स� ह?ै
A)S B)R
C)P D)Q

Read the following information carefully and answer the question given below. Five cities—'P', 'Q', 'R', 'S' and
'T' are famous for their garden, painting, education, pottery and scents, but not necessarily in the same order.
(i) 'P' and 'R' are not famous for education or garden. (ii) 'Q' and 'T' are not famous for painting or pottery. (iii)
Scents and painting have nothing to do with 'P'. (iv) 'S' and 'T' are not famous for garden and painting. (v) 'S'
is not famous for education. Which of the following cities is famous for gardens?
A)S B)R
C)P D)Q
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 47) (objection.aspx?qwr=3210017853&qwer=47)

Question No. 48

य�द x + y + z = 9 और xy + yz + zx = 20 ह,ै तो x² + y² + z² �ात कर�।
A)80 B)24
C)15 D)41

If x + y + z = 9 and xy + yz + zx = 20, find x² + y² + z².
A)80 B)24
C)15 D)41
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 48) (objection.aspx?qwr=3210017853&qwer=48)

Question No. 49

य�द �कसी स�ंया का एक चौथाई 72 ह,ै तो उसका दो-�तहाई �कतना होगा?
A)64 B)96
C)192 D)54

If one­fourth of a number is 72, then what will be its two­thirds?
A)64 B)96
C)192 D)54
Answer Key : C Your Response : Not Answered Raise Objection(Question No. 49) (objection.aspx?qwr=3210017853&qwer=49)

Question No. 50

मोह��द अल� िज�नाह को कौनसी उपा�ध द� गयी थी?
A)पा�क�तान के �धानम�ंी B)क़ायद-ए-आज़म
C)इनम� स ेकोई �वक�प नह�ं D)पा�क�तान के �पता

ww
w.
ex
am
mi
x.c
om

Visit -  www.exammix.com & Download : All Exam Previous Question Papers (Hindi & English)

Downloaded from  -  www.exammix.com



Mohammed Ali Jinnah was conferred with the title­
A)Prime Minister of Pakistan B)Quaid­i­Azam
C)None of the options D)Father of Pakistan
Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 50) (objection.aspx?qwr=3210017853&qwer=50)

Question No. 51

य�द A * B का अथ� ह ै�क A, B क� बहन ह,ै A + B का अथ� ह ै�क A, B का भाई ह ैऔर A - B का अथ� ह ै�क A, B
क� माता ह।ै इनम� स ेकौन दशा�ता ह ै�क 'T, S क� बहन ह'ै?
A)T - S + M B)T * M + S
C)इनम� स ेकोई �वक�प नह�ं D)T + M * S

If A * B means A is the sister of B, A + B means A is the brother of B and A ­ B means A is the mother of B,
then which of the following represents 'T is the sister of S'?
A)T ­ S + M B)T * M + S
C)None of the options D)T + M * S
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 51) (objection.aspx?qwr=3210017853&qwer=51)

Question No. 52

�न�न म� स े�या नीच े�दए गए सबंधं को सबस ेबहेतर तर�के स ेपरूा करगेा? PRAYER : RNGVJK :: AGENCY : ?
A)CKCKHR B)CCKKHR
C)CCKKRH D)KKCCHR

Which of the following will best complete the relationship given below? PRAYER : RNGVJK :: AGENCY : ?
A)CKCKHR B)CCKKHR
C)CCKKRH D)KKCCHR
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 52) (objection.aspx?qwr=3210017853&qwer=52)

Question No. 53
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Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3210017853&qwer=53)

Question No. 54
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य�द एक नगर क� जनस�ंया �थम वष� म� 40% बढ़ती ह ैऔर दसूर ेवष� 30% घट जाती ह,ै तो प�रवत�न का श�ु ��तशत
�ात क�िजए।
A)5% बढ़ती ह।ै B)5% घटती ह।ै
C)2% बढ़ती ह।ै D)2% घटती ह।ै

If the population of a town increases by 40% in the first year and decreases by 30% in the second year, find
the net percentage change.
A)Increases 5% B)Decreases 5%
C)Increases 2% D)Decreases 2%
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 54) (objection.aspx?qwr=3210017853&qwer=54)

Question No. 55

कोई धनरा�श 5% वा�ष�क � याज क� दर स े3 वष� म� �.4630.50 हो जाती ह,ै जब�क � याज क� गणना वा�ष�क च�व�ृ�त
आधार पर क� जाती ह।ै वह रा�श बताए।ं
A)�.6000 B)�.5000
C)�.4000 D)�.7000

A sum becomes Rs.4630.50 in 3 years at the rate of 5% of Compound Interest compounded annually. Find
the sum.
A)Rs.6000 B)Rs.5000
C)Rs.4000 D)Rs.7000
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 55) (objection.aspx?qwr=3210017853&qwer=55)

Question No. 56

गजुरात क� राजधानी �या ह?ै
A)वडोदरा B)अहमदाबाद
C)गाधंी �ाम D)गाधंीनगर

What is the capital of Gujarat?
A)Vadodara B)Ahmedabad
C)Gandhigram D)Gandhinagar
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 56) (objection.aspx?qwr=3210017853&qwer=56)

Question No. 57

360 के 15% और 80 के 20% का योग �ात कर�।
A)60 B)55
C)70 D)45

Find the sum of 15% of 360 and 20% of 80.
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A)60 B)55
C)70 D)45
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 57) (objection.aspx?qwr=3210017853&qwer=57)

Question No. 58

�न�न�ल�खत म� स े�कस खले के साथ 'बटर�लाई ��ोक' श�द जड़ुा ह?ै
A)तरैाक� B)म�ुकेबाज़ी
C)कु�ती D)नौका दौड़

With which of the following sport is the word 'Butterfly Stroke' associated?
A)Swimming B)Boxing
C)Wrestling D)Boat race
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 58) (objection.aspx?qwr=3210017853&qwer=58)

Question No. 59

�न�न�ल�खत �प स ेनीच ेसचूना को सावधानीपवू�क पढ़� और नीच े�दए गए ��न का उ�तर द�। उ�मीदवार अव�य ह�: (i) कम
स ेकम 55% अकं� के साथ �नातक हो। (iii) 1 फरवर�, 2017 को �यनूतम आय ु30 वष� स ेकम और अ�धकतम आय ु35
वष� स ेअ�धक नह� ंहोनी चा�हएे। (iii) सरु�ा �डपॉिजट के �प म� 40000 �पए का भगुतान करन ेके �लए तयैार हो। (iv) कम
स े कम 3 वष� का काम करन े का अनभुव हो। (v) �ल�खत पर��ा म� कम स े कम 50% अकं स े पास �कया हो। (vi)
�यि�तगत सा�ा�कार म� कम स ेकम 40% अकं स ेपास �कया हो। य�द उ�मीदवार (i) स े(vi) तक सभी अ�य मापदडं को
परूा करता/ती हो तो उस ेचनुा जाएगा। �कसी ऐस ेमामल ेम� जहा ँउ�मीदवार सभी मापदडं को परूा करता/ती हो �सवाए (i) के,
ल�ेकन उसन ेअथ�शा��/सािं�यक� म� �वशषे यो�यता के साथ �बधंन म� परा-�नातक क� �ड�ी म� कम स ेकम 55% अकं� को
�ा�त �कया हो, तो उसके मामल ेको GM-पस�नल के पास भजेना होगा। �कसी ऐस ेमामल ेम� जहा ँउ�मीदवार सभी मापदडं को
परूा करता/ती हो �सवाए (iii) के, ल�ेकन वह 1 वष� के बॉ�ड पर ह�ता�र करन ेके �लए तयैार हो, तो उसके मामल ेको SVP-
पस�नल के पास भजेना होगा। य�द उ�मीदवार के �ववरण� कोई सचूना कम ह,ै तो उस ेअपया��त डटेा के �प म� माना चा�हए।
�पा का ज�म 17.07.1985 को हआु था। उस ेBA म� 64% अकं और �यि�तगत सा�ा�कार म� 54% अकं �ा�त हएु ह�।
वह40000 �पए के सरु�ा �डपॉिजट के भगुतान के �लए तयैार ह।ै उसन े�ल�खत पर��ा म� 57% अकं �ा�त �कए ह�। उसके
पास 4 वष� काम करन ेका अनभुव ह।ै
A)उ�मीदवार को GM-पस�नल को भजेना होगा B)उ�मीदवार को �नय�ुत �कया जाना चा�हए
C)उ�मीदवार का चयन नह� ं�कया जा सकता है D)उ�मीदवार को SVP-पस�नल को भजेना होगा

Study the following information carefully and answer the question given below. The candidate must: (i) Be a
graduate in any discipline with at least 55% marks. (ii) Be at least 30 years and not more than 35 years as on
1 February 2017. (iii) Be ready to pay Rs.40000 as security deposit. (iv) Have work experience of at least 3
years.  (v)  Have  cleared  the  written  examination  with  at  least  50% marks.  (vi)  Have  cleared  the  personal
interview with at  least 40% marks.  In case a candidate satisfies all  the other criteria  from (i)  to  (vi), he/she
shall be selected. In case a candidate satisfies all the other criteria EXCEPT (i), but has secured at least 55%
marks in post graduate in Management with specialization in Economic/Statistics, the case is to be referred
as GM­Personnel. In case a candidate satisfies all the other criteria EXCEPT (iii), but is ready to sign a bond
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of 1 year, the case is to be referred as SVP­Personnel. If there is any loss of information in the candidate de
A)The candidate has to be referred as GM­Personnel B)The candidate has to be selected
C)The candidate cannot be selected D)The candidate has to be referred as SVP­Personnel
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 59) (objection.aspx?qwr=3210017853&qwer=59)

Question No. 60
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Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 60) (objection.aspx?qwr=3210017853&qwer=60)
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